T Esx — B (s FF —

Ee
=

2023.12387F

@=H (A:FHik

. RISER g | | o —— ORBNE | OrERE | OEENS

No. | “sgm No. %% USRT v T HELF (nt) ) FHREUREICET SMEEE (a) 2R (b)#H 1.5#‘51 1.5#‘&1 1.5#‘55 e

&S sSELE | s (A:#&%k) | (A:Bik) | (A:-BikK)

1| mEE |0 |—mss 1HRE 150 | 80A S RPHYE L IER 6, 702 3,351 15 79 72
2 | mam= |1 |-mse EREE 75 | 404 e RPHYELIER 3, 351 1,675 6 79 72
3 | mm= |1 |—mmanm EIWBE 75 | 404 S BPNYE LR 3,351 1,675 6 136 147
4 | mam= | |gnan=ss ATHE 156 | 136.A R HYELIER 6,970 3, 485 20 229 251
5 | mE= | |zmmn=da BH%E 156 | 136A SRS HYE LR 6,970 3, 485 20 229 251
6 | mm= |11 |mrmnn BHE 1 160 | 149X SR HLE L IER 7,148 3,574 44 276 276
7| mm= |0 |mrmnm WBE2 160 | 1494 S B EYE LR 7,148 3,574 44 276 276
s | mm= |1 s BEES 326 | 326A S RPHYE L IER 14, 565 7,282 99 596 596
o | ma= |4 |FEeuns R E 160 | 1434 SR HYELIER 7,148 3,574 98 339 307
10 | #maE |4 |[BEeuRe E-HRE 86 | 63A SEBPNYE L ER 3,842 1,921 45 172 154
1| mEE | 4 [BEeuKe E=HAE 83 | 63 R HYE LR 3,708 1,854 39 209 187
12 | #EE |4 [BEeuRe EmHRE 115 | 100A S BPHNYE LR 5,138 2,569 49 269 240
13 | sEmE| 1 [-ruE £ BMHE 1 18 - R HYE LR 804 402 7 40 40
14 | sEmE| 1 [—eaEs £ HMWBE 2 18 - S B EYE LR 804 402 7 40 40
15 | sEmE| 1 [-muE 2 ENKES 18 - B HYE LR 804 402 7 40 40
16 | sEmE| 1 [—muE £ HMHBE 4 18 - R HYELIER 804 402 7 40 40
17 | sEmE| 1 [-mgE 2 ENKES 18 - S BPHNYE LR 804 402 7 40 40
18 | sEmE| 1 [-muEs 2 ENLEG 18 - R HYE L IER 804 402 7 40 40
19 | sEmE| 1 [—maEs 2 ENRET 18 - SRS HNYE LR 804 402 7 40 40
20 | sEmE| 1 |—m5nkn £ EMHKES 18 - A RPHYE LR 804 402 7 40 40
21 | sEm=E| 1 |—munn £ HMKEO 18 - S B EYE LR 804 402 7 40 40
2 |samE| 1 |—BnkE SEMKEO 18 - S BPHYE LR 804 402 7 40 40
23 | sEm=E| 1 |5k SEMKE 1 18 - S RPHYELIER 804 402 7 40 40
24 | sEmE| 1 |—mskn SEHMKE 2 18 - S BPHNYE LR 804 402 7 40 40
25 | sEmE| 4 |[BEEHKE SEMKE 3 20 - R HYE L IER 893 446 2 17 19
26 | sEmE| 4 |[BEEHKE SEMKE 4 20 - S BPHNYE LR 893 446 2 17 19
21 | sEmE| 4 |[BEEHKE SEMKES 20 - R HYE LR 893 446 2 17 19
28 | sEmE| 4 |BEEHKE SEMKE 6 20 - S B E LR 893 446 2 17 19
29 | sEmE| 4 |[BEEHKE SEMNKE T 20 - S BPHYE L IER 893 446 2 17 19
30 | sEmE| 4 |[BEEHKE SEMKE 8 20 - R HYELIER 893 446 2 17 19
31 | sEmzE| 4 |[BEEHKE SEMKE 9 20 - SRS HNYE LR 893 446 2 14 15
2 | sEmE| 4 |[BEEHKSE LEMKE20 19 - R HYE L IER 848 424 2 21 23
33 | sEm=E| 4 |[BEEHKE SEMKE2 1 17 - S B E LR 759 379 2 15 17
34 | sEmE| 4 |[BEEHKE SEMHKE2 2 20 - SR HYE L IER 893 446 2 15 17
35 | sEmE| 4 |[BEEHKE SEMKE23 18 - S B E LR 804 402 2 15 17
36 | sEmE| 4 |[BEEHKE SEMNHE2 4 18 - S BPHYELIER 804 402 2 15 17
37 | sEmE| 4 |[BEEHKE SEMHBE2 S5 17 - R HYE L IER 759 379 1 19 21
38 | sEmE| 4 |[BEEHKE SEMHKE26 17 - SRS HNYE LR 759 379 1 19 21
39 | sEmE| 4 |[BEEHKE SEMKE27 17 - S RPHYE L IER 759 379 1 19 21
0 | sEmE| 4 |BEEHKE SEMKE28 17 - S B EYE LR 759 379 1 19 21
0 | sEmE| 4 |BEEHKE SEMKE2 9 20 - B HYE LR 893 446 2 19 21
1 | samE| 4 |BEEHKE ZEMKES O 20 - 5 B E LR 893 446 2 19 21
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No. | “rgum No. : %4 LR T v T HELF ) ER | Tmp FHRURFICETIMEEE (a£A (b)#8 1 .H#‘ﬁ;ﬁ 1 .ﬁrﬁﬁ 1 .ﬁpﬁﬁ e
&5 SR E SR T (M :Bitk) (M :Bitk) (M :Bitk)
13 |sEm=z] 4 [BEruRe 2 EMKES 1 20 - e NRE R IER 893 446 2 19 21
u |san=z] 1 [BErns SHIHES 2 20 - B R A IR 893 446 2 19 21
15 | sanz| 1 |BErure SEMHES 3 19 = R MU ELIER 848 424 2 16 17
16 | sEmz] 4 [BErHRe SHIHES 4 20 - B R A KRR 893 446 2 24 26
1 |sEn=z] 4 [BErune SHIHES 5 17 - R MU ELIRR 759 379 2 15 17
18 | sEm=z] 4 [BErRe SHIHES 6 20 - SR NRE IR 893 446 2 15 17
1 |zEm=] 4 [BEruRs SHIHES 7 18 - o R A KRR 804 402 2 15 17
50 |zEmz| 4 |BErHRe SHMBES 8 18 - SR HRE IR 804 402 2 15 17
51 | zEmz| 4 |BEeuns SHIHES 0 17 - B R A E IR 759 379 1 19 21
52 | sEmz| 4 |BErre L EMHBEA O 17 - R MU ELIER 759 379 i 19 21
53 | sEmz| 4 |BErre SHIHEA 1 17 - B R A IR 759 379 1 19 21
50 | zEm=E| 4 |BEeRe SHMHEA 2 17 - R MU EXIER 759 379 2 19 21
55 | =mz |3 |anmazze EMEETE 300 B x |ERLRAEIER 13, 404 6, 702 70 587 532
56 | am= |12|wmm REBE 202 | 0A | BAIx |@BcEREER 9,025 4,512 48 336 140
57 | amz |12|wmm hAHE 101 | 30A | BEIx |eBcEROBE 4,512 2, 256 23 115 14
58 | am=z |12|wme N 48 | 0A | BEIx [eBEEBRLER 2,144 1,072 6 107 102
59 | sm= | 4 |Burnne oY E 67 | 20A | BAIx |eBeEROHER 2,993 1,496 35 102 85
60 | sm= |14 |mmEmn EoomE 84 | d0A | BAIx |pFUT AT A Y FRAREER 3,753 1,876 7 89 107
61 | 2m= |14 |mmmn E=omE 112 | 50A | BEIx |24 07 =420 rERBEEER 5, 004 2,502 51 239 216 |=emsy
62 | 2m= |14 |wmEmn BmanE 11 | 454 | BBIx [s4 07420 FERREER 4, 959 2,479 33 312 265
s | 2= |a|ru7—vi oY £ 86 | 40A | BEIx |94 0T 4R T AL FBARLER 3,842 1,921 9 27 23
63 | s |14|mmms AR RFLZTAI 86 B x |ESEREE S — 3,842 1,921 26 70 70
66 | s |14|mmmn AR REFALXSHA 72 FEIx |BREREE LS — 3,216 1,608 11 53 53
67 | 25— 13 |mee w5 sx747208— [MMC EE= 1 FEIx [RILFATAT7EVHE— 7,640 3,820 45 396 340
68 | toa—13|mEe - wr7r747€v5— [MMC TS99 UH=E 60 RAIX |[RILFAT 4 FTEVE— 2,680 1,340 9 76 76
69 | o a—|13|man-nrsriress— MmMc smzz 82 BElx [RLFATA 7Y - 3,663 1,831 33 104 13
70 | 2r5—]30|pszerrersasess— |cMCH—L 141 B x |[PERLETER 6, 299 3,149 39 138 41
1| zow | 5w 1B a% 422 B x |[PERSETER 18, 854 9,427 74 683 781
72 | movmmsz | 15 e A kA —& R FIER 6,800 3,400 136 = = SEEQT, 01700
1 | eamm|—|rsmok T2k st —@ R IR 12, 800 6, 400 - - - BB 0T, o100
1 |l esnms| —|5=2a—+ TIRIA—E en 5% sk R T R 6,000 3,000 — — — 900 13.00 - 13:00~17:00
75 | mame | sty v Iursz |mEq 248 | 2004 HAUT4RFTA Y FRBRLER 11,080 5, 540 18 372 348
76 | mame | sty v TSR |mE2 116 | son HAYT4RHFT A FRERLER 5,182 2,591 10 241 225
71 | mame ||y yILrsz |seos 44 — | BEIx |94 U T RS AL P RERLER 1,965 982 4 47 48
78 | mame | sty v TSz |mEE 13 — | BaIx |94 U T RS AL FRERLER 580 290 1 17 17
79 | mame sty v Inrsz |EHE2 11 — | mEIx |94 U T RS AL FRERLER 491 245 i 17 16
g0 | mume|as |ty v Tz |mH=s 1 — | mEIx [9F U RT AL P RERLER 491 245 1 17 16
81 | mame | sty v IuTs52 |EH=4 11 — | BEIx |94 U T RO AL P RERLER 491 245 i 17 16




